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OBJECT PATCH ;
FROELEM: QIO’S TO MOUNTED MAGTAFES ARE COUNTERD A5 DISK I/3.

FROCEDURE:

#LER LGSUB.OLDN=C1,24]ACCLOG/EX:LGSUE
#MAC LGSUB.FOB=LGSUB.FAT
>FAT LGSUB.OBJ=LGSUB.OLU/CS3015556vLGSUB.POB/082030324

>LBR C1,24]ACCLNG/RF=LGSUB /-£p

== 22-JAN-81 FIX BUG IN MOUNT TAFF I/0 COUNT

$°C<DV.SAD!IDV.F11 1DV MNT>s (SF) 3 CLEAR IRFLEVANT BITS

#UV.SQDIDV.F11IDV.MNT» (SP)+ 3 MAGB TAFE?

$AC<DV.DIR!DV.F11!1DV.MNT>» (SP) 3 CLEAR SFARE EITS
§DV.DIR!DV,F11!DV.MNTs(SFP)+ 3 DISK?

#1,AC.DSK+2(R2) 3 INCREMENT DISK I/0 COUNT
AC.DSK(R2) # DON’T FORGET CARRY

#1»AC,MAG+2(R2) 3 INCREMENT TAFE 1/0 COUNT
AC . MAGB(R2) # HIGH FART ALEO0



